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The thief and the robber — 79Ty 2107

OVERVIEW

The X713 cites a Xn**12 which states that if a 213 or a 1713 were w*7pn that which they
stole or robbed, it is a valid wpn (for it belongs to the 12131 213 [regarding their
ability to make it w7pn] since the owners were WX ). Moo refers us to a later
X713 in order to resolve an apparent contradiction.
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In X902 %17 P79, the X n3 asks (on this &n°°12) if it is according to the 3329, there
is a difficulty with mentioning y93; if it is according to @', there is a difficulty
with mentioning 213. And the X723 there answers it properly.

SUMMARY
This 8012 does not contradict the np9nn between "7 1127 mentioned in the
previously cited mwn.

THINKING IT OVER
When noown writes 0w ;7% 23wm, is he referring to all the three answers® given or
only to some of the answers?

! The is referring to the dispute between the 1121 and w"A (cited on 2,10) whether there is 2¥2 wX° only by a 213 but
not by a 171 (the view of the 1327), or whether there is 2°2v2 WR° only by a 1713, but not by a 23 (the view of w”).
See *"wn there 772°n1 17" 213 5w 7"7. In any event neither of them maintain that there is 2°¥2 WX both by a 213 and a
1213; how can the &n>>12 state that the WP of both a 213 and a 7213 is valid (on account of 2°%y2 WIR>)?!

2 The x> there gives three answers; one, according to X7 who maintains that if it is known that the owner was
wR»1 all (" 71127) agree that WX is 71Ip, the Xn™12 is discussing a case of '¥17""; secondly, that the term 213 in this
Xn»2 refers to a 11 0°v0°7 (an armed thief), who is considered as a 7213 and the Xn>12 follows the view of w"A that
there is WR* by a 121 The third answer is that the Xn»12 follows the view of 27 who maintains that there is WX
both by a 213 and a 1713,

? See footnote # 2.
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